Download Full Version CISSP Exam Dumps(Updated in Feb/2023)

QUESTION 420
SQL commands do not include which of the following?

Select, Update
Grant, Revoke
Delete, Insert
Add, Replace

oo w >

Correct Answer: D

QUESTION 421
A persistent collection of interrelated data items can be defined as which of the following?

database
database management system
database security

oo w >

database shadowing

Correct Answer: A

QUESTION 422
Which one of the following is commonly used for retrofitting multilevel security to a Database
Management System?

Trusted kernel
Kernel controller
Front end controller

oo w >

Trusted front-end

Correct Answer: D

QUESTION 423
Which of the following is the marriage of object-oriented and relational technologies combining
the attributes of both?

object-relational database
object-oriented database
object-linking database

oo w >

object-management database

Correct Answer: A
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QUESTION 424

A department manager has read access to the salaries of the employees in his/her department
but not to the salaries of employees in other departments. A database security mechanism that
enforces this policy would typically be said to provide which of the following?

content-dependent access control
context-dependent access control
least privileges access control

oo w >

ownership-based access control

Correct Answer: A

QUESTION 425

Which of the following is an important part of database design that ensures that attributes in a
table depend only on the primary key?

A. Normalization
B. Assimilation
C. Reduction

D. Compaction

Correct Answer: A

QUESTION 426
Which of the following does not address Database Management Systems (DBMS) Security?

A. Perturbation

B. Cell suppression
C. Padded Cells

D. Partitioning

Correct Answer: C

QUESTION 427
Which of the following is commonly used for retrofitting multilevel security to a database
management system?

A. trusted front-end
B. trusted back-end
C. controller

D. kernel
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Correct Answer: A

QUESTION 428
Normalizing data within a database includes all of the following except which?

Eliminating repeating groups by putting them into separate tables.
Eliminating redundant data.
Eliminating attributes in a table that are not dependent on the primary key of that table.

oo w >

Eliminating duplicate key fields by putting them into separate tables.

Correct Answer: D

QUESTION 429
SQL commands do not include which of the following?

Select, Update
Grant, Revoke
Delete, Insert
Add, Replace

oo w >

Correct Answer: D

QUESTION 430
SQL security issues include which of the following?

The granularity of authorizations.
The size of databases.

The complexity of key structures.

oo w >

The number of candidate key elements.

Correct Answer: A

QUESTION 431
Which of the following are placeholders for literal values in a Structured Query Language (SQL)
guery being sent to the database on a server?

Bind variables
Assimilation variables
Reduction variables

oo w >

Resolution variables
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Correct Answer: A

QUESTION 432
What ensures that attributes in a table depend only on the primary key?

Referential integrity
The database management system (DBMS)
Data Normalization

oo w >

Entity integrity

Correct Answer: C

QUESTION 433

Which of the following represent the rows of the table in a relational database?
attributes

A

B. records or tuples
C. record retention
D

relation

Correct Answer: B

QUESTION 434
With regard to databases, which of the following has characteristics of ease of reusing code and

analysis and reduced maintenance?

Object-Oriented Data Bases (OODB)
Object-Relational Data Bases (ORDB)
Relational Data Bases

oo w >

Data Base management systems (DBMS)

Correct Answer: A

QUESTION 435
Complex applications involving multimedia, computer aided design, video, graphics, and expert

systems are more suited to which of the following?

A. Object-Oriented Data Bases (OODB)
B. Object-Relational Data Bases
C. Relational Data Bases
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D. Data base management systems (DBMS)

Correct Answer: A

QUESTION 436
Which of the following refers to the number of columns in a table?

A. Schema
B. Relation
C. Degree
D. Cardinality

Correct Answer: C

QUESTION 437
Which of the following refers to the number of rows in a relation?

A. cardinality
B. degree

C. depth

D. breadth

Correct Answer: A

QUESTION 438
Which of the following refers to the number of columns in a relation?

A. degree

B. cardinality
C. depth

D. breadth

Correct Answer: A

QUESTION 439
What is one disadvantage of content-dependent protection of information?

A. ltincreases processing overhead.
B. It requires additional password entry.
C. It exposes the system to data locking.
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